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: ClrHome

Disp "STEM CUT POINT","COPYRIGHT 2812","ROGER PALAY"
Input "DATA LIST:",LITEM

. dim(LITEM)-A
. SortA(LITEM)

Disp "LOW VALUE:",LITEM(1)
If LITEM(1)<@

: Then

Disp "DOES NOT WORK ON","NEGATIVE VALUES"

: Stop

End

Disp "HIGH VALUE:",L.ITEM(A)
Disp "NUM VALUE:"

Pause A

Lb1 5

Disp "PUT CUT-POINT","BETWEEN LETTERS","IN: ABCDE.FGHIJ"
"CP BETWEEN THE 2"

Input "LETTERS: ",Str7

If length(Str7)#2

Goto 5

inString ("ABCDEFGHIJ" ,Str7)-B
If B=@

Goto 5

B-4-B

If B>@

Disp "MULTIPLYING","LIST BY",10"B
If B<@

Disp "DIVIDING","LIST B",18"("B)
If B=@

Disp "LEAVING LIST","AS IS"
round (LITEM*1@07B,0)~>LITEM
LITEM(1)-1I

iPart(I/10)-S

S-Z

prgmTOSTR

ClrHome

Stro+":"->Str1

I-S*1@-D
Str1+sub(Str8,D+1,1)-Str1

2-J

Lb1 10
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LITEM(J)-I
iPart(I/10)-K

If K#S

Then

Lb1 20
length(Str1)-L

If L>15

Then

Disp sub(Str1,1,15)
" "+sub(Str1,16,L-15)-Str1
Goto 20

End

Pause Str1

K-Z

K-S

prgmTOSTR
Stro9+":"-Str1

End

I-S*10-D
Str1+sub(Str8,D+1,1)-Str1
J+1-J

If J<A

Goto 10

Lb1 30
length(Str1)-L

If L>15

Then

Disp sub(Str1,1,15)
" "+sub(Str1,16,L-15)-Str1
Goto 30

End

Pause Str1

Disp "COMPLETED"
Stop
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